
PICTURE MAY NOT REFLECT THE EXACT MODEL

Covering Your World

PORTABLE SHELTER INSTRUCTIONS

MODEL:SH-1430R
L9.2mxW4.3mxH4.3m

20170301



 

    
 

   

        
         

    

 

   

       

     
    

   
      

     
  

    
  



 

    
 

     
    

   
     

 

  

     
    

    
     

     
     

    

  
     

 

  



   

    
      

      
   

  

 

               
        

     
  

   



1

PARTS LIST FOR SH-1430R

Covering Your World

Parts# Descriptions Diagram Q'TY BOXDimensions
(in mm)

1

2

3

4

5

6

7

8

9

11

12

10

13

14

15

16

17

45x1630

45x1630

45x1630

45x1630

45x2100

45x1360

45x2100

45x1505

45x1505

38x1483

38x1483

45x900

45x350

28x1550

28x1550

16x1600

70x25x600

7

7

10

4

14

4

4

2

2

12

18

2

4

2

10

1

4

2

2

2

2

1

2

1

2

2

2

2

2

2

2

2

2

2

Top rafter

Top rafter

Side roof rafter

Side roof rafter(end)

Leg rafter

Door frame vertical tube(upper)

Door frame vertical tube(lower)

Upper door cross tube1

Upper door cross tube2

Purlin

Purlin with ring

Upper door vertical supporter

Door frame side

Cover conduit

Cover conduit

Zipper tool(to open/close)

Door base rail parts

18 70x25x1612 2 2Base rail parts

19 70x25x1526 10 2Base rail parts

20 24 2Fixer



PARTS LIST FOR SH-1430R

2

Covering Your World

Parts# Descriptions Diagram Q'TY BOXDimensions
(in mm)

21

22

23

24

25

27

28

33

34

35

36

37

38

45

6x3000

6x2280

6x3280

M16x350

M8x75

T-2

5x330

25x700

2

16

2

24

24

28

122

36

60

1

2

2

2

2

2

2

2

2

2

2

12 2

2

2

2

2

Upper door support connection

Door frame side cross support
connection clamp

Door sliding cable kits
(S:12pcs/L)

Side rafter bracing cable

Roof rafter bracing cable

Anchor

Screw,washer and nut

Cover lock-up

Strap band

Ball type bungee

Main cover

Door cover

Door upper cover

26 12 2Ratchet tie-down

29 M8x100 10 2Screw,washer and nut for base rail

30 M8x15 24 2Screw,washer and nut for ratchet

31 M8x100 4 2Screw,washer for door base rail

32 M8x75 8 2Screw,washer for door frame



Covering Your World

PARTS LIST FOR SH-1430R

Parts# Descriptions Diagram Q'TY BOXDimensions
(in mm)

39

40

41

42

6x4220

M12x120

4

3

6

12

2

2

2

2

Door bracing cable kit

Roof wind bracing strap

Base (for #40)

Wedge anchor (for #41)

A 4 2Auger anchor

B 6x4000 4 2Guy rope

C 4 2Guy rope fixer

3



SH-1430R

4

Covering Your World

 



SH-1430R Main Dimention(mm)

5

Covering Your World

 

※サイズは約です。必ず現物で合わせてください。



Base drawing (mm)

6

Covering Your World

※サイズは約です。必ず現物で合わせてください。



7

Covering Your World

Frame Assembly Steps

Choose the place, measure according to above drawing, and install base as illustrated below.
（Note：Please install the shelter after the concrete concreted） 



8

Covering Your World

Step 1: Install the first row of rafters with #5, #4 and #1, #2 as illustrated below. (To avoid accident, It is very 
important to hold the first row of rafter with support(wood, rope or similar thing), make sure that it won’t fall 
down.) 

Step 2:  Install the second row of rafters with #5,#3 and #1, #2, connect the first row with #11, #12, install the 
cables#24, #25, and fasten. 



9

Covering Your World

 Step 3：The same way to install other rows of rafters, purlin and cables. 

Step 4：Install the end frames as following，then fasten all the screws and parts. 

 



 

10

Covering Your World

Roof Cover Assembly

 

    #14 #15 
#36 

 

#34 

TIPS : Slide the roof cover over assembled frame from one side 

insert the conduit to
pocket on side:

Pocket for side wall conduit
Ratchet tie down for tensioning the 
Side wall (roof cover) 



 
Covering Your World

11

#33 

 

    
#37  #38 

         

 

 

 

 

   

 

#35 

#16 

Step 2 : Attach the cover (#33/#35) to the frame as following : 

Note:
#33for main roof cover tensioning.
#35 for front and end covers tensioning.  

Your assembledshelter will be similar to the illustrationbelow :
Illustration for Ratchet using. 



 
Covering Your World

12

PS:Guy rope using instruction:
Inside view

Fix the item #A,#B,#C onto the sides of shelter as shown above,to tension the
shelter and make the shelter stable.
Cinch the rope to auger anchor as shown below,and fix the anchor into ground.

 



13

Covering Your World

 



Covering Your World

14

 (in order to protect the shelter from heavy wind, please install the wind bracing straps at points 300 mm measur-
ing from the ends, and others to be installed in the middle averagely.) (photos are for reference only, the real 
quantity is according to packing list.) 

#40
#41

#42


